ZIRADEFE TRUTCEET S 1-1
TRULTEHETSI
NO.1 ZH | /10 &
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(1) 52 2

(2) 99 2

(3) 73 X 67

(4) 82 X 78

(5) 32 X 97 + 32 X 3

(6) 652 — 352

(7) 522 — 482
(8) 6.12
(9) 0.51 2 — 049 2?2

(10) 282 + 2 x 28 + 2 2
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(1) ( 50 + 2)2
= 2500 + 200 + 4
= 2704
(2) ( 100 — 1) 2
= 10000 — 200 + 1
= 9801
(3) (70 + 3 )(70 — 3)
4900 — 9
— 4891
(4) (80 + 2 )(8 — 2)
— 6400 — 4
6396

(5) 32 X (97 + 3)
= 32 X 100

= 3200

(6) = (65 + 35)( 65 — 35)
= 100 X 30
= 3000

(7) = (52 + 48 ) ( 52 — 48)
= 100 X 4
= 400

(8) ( 6 + 0.1 )2
= 36 + 1.2 + 0.01
= 37.21

(9) = ( 0.51 + 049 ) ( 0.51 - 0.49 )
= 1 X 0.02
= 0.02

(10) ( 28 + 2)°2
= 900
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